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Na=6,02.10%*mol™ M(238U)=238g/mol « 1eV=1,60218.10"° J <1u=1,6606.10?'"Kg =931,5MeV.c™
m(He)=4,001u, m(235Pb)=205,9935u , m(238U)=238,0084u, m(e)=0,000549u
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m(43Ca)=39,9516u , m,=1,00728u , m,=1,00866u , 1IMeV=1,60218.10"% J <1u=931,5MeV.c”
m(49K)=39,9535u , m(x)=0,000549u , t;,,=1,28.10%ns
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m(Ba)=136,90581u , m,=1,00728u , m,=1,00866u , 1MeV=1,6.10"2J <1u=931,5MeV.c?
m(Cs)=136,90707u , m($)=5,5.10"u, t1,=1,198.10% , Na=6,02.10”mol™
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m(U)=234,057u , m(Th)=230,04u, m,=1,00728u, m,=1,00866u , 1u=931,5MeV.c>
t1,=2,455.10°ans , m(He)=4,0085u






